1. TIEHERLTER




No.4

BT
I i T E L Al # Al B oK-B KT & B | B BRETHE # &
7 *® T
* I
' £ 8  #IBHEH|-FEIA-DEN (IR - W R) m3 31.0 31
2 & i HIBHEH-FWA-REFERRES m3 96.0 96
£ B K EBHEH-BA-REEER-RES m3 36.5 37
2 # B IRES-HEESER-EE-HE KRL)| m3 116.9 117
£ B # REES-HEEER-EE-HE &KRL)| m3 36.5 37
4 A T BAL (REL) m3 46.8 47
B OBE 4 BEL &BD m3 31.0 31
= ®m OB B I
B+ E  E L - BEER m2 194.6 195
2 ®m E R I
¥ o— b T @ L ANER m2 229.7 230
b 7K T
Ry b4 FEK m2 255.7 256
B+ # % T m2 255.7 256
o H R I
£ EF A& EFME150.kg/m3 WEHME. 3t m2 110.0 110
2 B B L I
RAKtAY bFTT
R 1B e+ m3 1.3 1
7 RfiAL @&RL) m3 1.7 2
E @ B E#H: m2 0.7 1
FA Y ) — b+ 18-8-40 m3 0.726 0.7
B4 B EEHEIED m2 3.740 4
3 L] T
L *® T
73 B #htEL - T T m3 198.1 198
17 R|RAL - 19.8+12.1+6. 6+147.8 m3 186.3 186
E B B EHEL-ARN m2 15.0 15
Bk Y Y- b2IN-12-20 m3 7.057 7
B4 | BEEIEY m2 20.58 21
% 7| SD295A-D13 kg 421. 368 421 |0.42t
HEHEa Y- H[18N-8-40 m3 1.502 2
= OB OB BHLER m2 2.73 3
E 1 — L H#HHILIY-FE1IESI00 m 13.8 14
# E 1t K #R|CF-200 m 4.2 4
4 7 T JL s\ —DI6x1,000 X 16.0 16
B i MISRAFIT45—CHE m2 1.2 1
TRy I XT
L & T
Bk Y Y- b2IN-12-20 m3 0. 808 0.8
B4 | BEEIEY m2 3.31 3
B % B B m2 0.72 1
EBEa2 Y ) - ~18N-8-40 m3 0.169 0.2
£ OB OB BHLER m2 0.39 1
= & it #& $200 -3 1 1
£ B B EHMEE-AD m2 1.7 2
% #7|SD295A D13 kg 99. 05 99 0.1t




No.5

T £ 8 E # 8 X
BT
I & i Al a Al BB K- & By g RETHE " &
#
5 3 T
Bk Y- +2IN-12-20 m3 2.998 3.0
A B BEEEY m2 11.31 11
% #7|SD295A D13 ke 250.78 251 |0.25t
EHa 2 Y- b18N-8-40 m3 0. 562 0.6
E- - B (R ¢ Sfilk m2 1.34 1
& 1 &/|SGP(A) 200A m 4.9 5
£ K A ESCPE) 50A m 2.6 3
= & Mt #& o715 = 8.0 8
B E 1 K #x/CF200 m 2.4 2
f= & ith 12 HR £+ & SGP(A) 80A m 2.0 2
BRI YY) — 18N-8-40 m3 0.544 0.5
K
= m] T
Bk 2 Y- b2IN-12-20 m3 0.474 0.5
A B BEEEY m2 2.92 3
% 7| SD295A-D13 kg 37.36 37 0.04t
EHa2Y Y- b18N-8-25 m3 0.143 0.1
E- S - S (R ¢ Sfitk m2 0.20 1
# E 1t K #R|CF-200 m 2.3 2
4 5 T JL /N —D16x1,000 x 5 5
] i #HISRFYT15—CHE m2 0.5 1
£ B B EHMMEE-AD m2 1.6 2
Hoo o o# I
(W8 x8—DI0E) SR{k2 > ¥ Y- k|18N-8-40 m3 0.688 0.7
A B NEUEEY m2 7.89 8
H B B ARC-40 t=15cm m2 1.69 2
£ B B EHMEE-AD m2 1.7 2
B O K B T
Bk 2 Y- b18N-8-40 m3 0.720 0.7
A B NEUEEY m2 3.45 4
£ B B A RC-40 t=15cm m2 2.40 2
173 L - Mt T m3 2.7 3
7 R FRAL-W<1.0m m3 1.8 2
£ B B EHMMEL-AD m2 2.4 2




No.6

I & # 2 # £ %
B4 T
I i T iE E Bl # Bl b A NE - By 2 HEtHE ix &
BEYWRBEIL
K B B = I
)id % L EHEEY 0.92+0.96 m3 1.88 2
E OE o =B
0 Savy -k m3 1.88 2
3 B T
R % B B I
1 5 X &% & B8 B4R 1.5mx3.0m t=22mm " 35 35 28.07t
2 5 R % E B ESIR 1.5mx3.0m t=22mm ® 12 12 9.62t
K B T
HEKAE ‘/7%?%1# - & P 1 1 -
Bkt vy B KEBHEERKY A 15 15
+ B & B &

ANEY O LEHRER

E3%N




2. BAIHETEE




2 %k I ¥ B % 3
i Al g iE =X Bt #H 2
2 Al T
e T+ A KO : BHIEH|-F&A—DEHE (Hhfgok B : 150kg/m3)
= Bl V= Rk, TIHESHEELY m3 31.0
17 x i Hl #5MEL  BHIEHI- 1B A -4 EER-RES
i Bl V= Rk, TIHESHEELY m3 96.0
A T 73 i #5tE L : BHIEH| - A~ EEER—RES
i Bl V= R, TIHKEHEELY m3 36.5
17 K 23 T TRt RES-BHEEER-RE D — S#HE X
% + V= R, TIHEHEELY m3 116.9
®w B # V= AMmE50kg/m3x116.9= t 5.8
A T 18 R AL (RES-HEEER-RBD -8 &X
18 B V= BRI, tTIHSHEELY m3 36.5
®w B # V= HMnE50kg/m3x36.5= t 1.8
B A T mWEL
V= Ril#. TITELHERELY m3 46. 8
by 1] ® s fEME T BEER
E R OA A= B, TIHEHEELY m2 194. 6
T O A A= B, TIHEHEELY m2 0.0
YA= 64.1+28.2 m2 194. 6
#H 1] ® 2 #hitELE . ANJER
S— F@E A= 119.7+110.0 m2 229.7
i 7K MARUMFA R~
A= FlfK. BN — FEESEE LY m2 255.7
#h e G¢ B
= OE N OB EERLY 24m x 2. 0m=48m2 (FEH¥HEZFE : t=0.50m)
EEIT GBL) 31.0/0.5=62m2 (EyKBEZE : t=0.50m)
it 48.0m2 + 62. 0m2 m2 110.0
® B #FERKLY 150kg/m3 x 48m2 x 0. 50m x 1/1000 =3. 6t
ST GEL) 150kg/m3x31.0x1/1000 =4. 7t
it t 8.3




r T & £ FH OB *
B # [ T K % [x =2 [ I # # [E % # #H
12 1| (& + 2 B | 0.0 furrrmeeeeeessssssssssnnssssessssssssssssssenss s sssssssssssseeees NEL LY
[(BH) #E Bl - #&A| [FoTSvoEH|
1z
12 A EE FEEESN 310 frreresrsserrnrsessssnssns s B+ 55|
& [(BR R Al - BA| [FoTrov7Em|
12
| R EeEs EEL)] [ o) FEZ5
Bl (BH) #& &l
R E [E®EE art)] [ 365 RE =15
((BH) & Al
=3
1| DAL [EMAE ()] [ 1981] R E = B
1 (BH) #& Al
Hl | =t | | 330.6]
B % =& x| [ 1169] R & = 15| | 330.6]
®2 ® B8 F| | 36.5|_L |_
E #% # &F| | 186.3|J I—IE% A x| | 46.8]

(V=198+121+6.6+147.8=]

I

[ 3397

(330.6—(339.7) /0.9=46.8]




2 W®K I H E B B &
M T I % 2 No. 1
T I #H =
- = BB B BXBRE(RENE) TRMEHI T RPERIE (EREHhAR)
(m) WmiE T ¥ I B O HER F H I B O HEmE T ¥ I 8§’
ANO. 0+5.0 0.00 1.5 — - 5.8 - - 1.9 - -
ANO. 0+10.0 2.33 1.2 1.35 3.1 4.5 5.15 12.0 1.7 1.80 4.2
ANO. 0+15.0 5.00 2.0 1.60 8.0 4.9 4.70 23.5 1.7 1.70 8.5
ANO. 0+25.0 10.00 1.1 1.55 15.5 4.0 4.45 44.5 1.7 1.70 17.0
ANO. 0+29.0 4.00 1.1 1.10 4.4 4.0 4.00 16.0 1.7 1.70 6.8
& i 21.33 31.0 96.0 36.5
- . BB B ® T @&BEL) # R@RL)
(m) WrmiE T ¥ I B O HER F ®H I B O wEmE T ¥ oz ®’
ANO. 0+5.0 0.00 7.6 — - 1.9 - -
ANO. 0+10.0 2.33 6.6 7.10 16.5 1.7 1.80 4.2
ANO. 0+15.0 5.00 5.9 6.25 31.3 1.7 1.70 8.5
ANO. 0+25.0 10.00 4.4 5.15 51.5 1.7 1.70 17.0
ANO. 0+29.0 4.00 4.4 4. 40 17.6 1.7 1.70 6.8
& i 21.33 116.9 36.5




2 W®K I H E B B &
M T I % 2 No. 2
T I #H =
- N BB BiiZzm (£ 5 BtiZzm (T M
(m) EROFE ¥ @& B OER T ¥ m@ &
ANO. 0+5.0 0.00 8.7 - - - -
ANO. 0+10.0 2.33 8.6 8.65 20.2 0.00 0.0
ANO. 0+15.0 5.00 8.5 8.55 42.8 0.00 0.0
ANO. 0+25.0 10.00 9.9 9.20 92.0 0.00 0.0
ANO. 0+29.0 4.00 9.9 9.90 39.6 0.00 0.0
& i 21.33 194.6 0.0




BT

BWHIWEMNEE
NV bFA -k

No. 4
oe . - RN bhFHAaA - FHERER
RUMFAR-FERRAREKY
= 7 &t =1 = i (m?) | & £
[ A1 | CAD:V-nasick 2EHE T 20. 14
| A3 " 27.04
| A5 " 27.04
| A7 P 27.59
7k | A9 " 5. 60
: All " 0.41
F| Al3 p 1.23
| Al15 " 1.03
® [ a17 " 0. 21
A19 “ 0.96
|_A21 " _2.n
| A23 " 4.46
| A25 " .23
nE 119.65
A2 " 22.76
A4 " 24.06
A 6 " 24 06
A8 " 24.99
'-?4 A10 " 0.89
Al2 " 0.98
Al4 " 0.84
| Al " 0.76
| A18 " 0.10
B 20 " 1.78
| A22 | & | 3.47 | |
A24 " 5.34
s 110.03
FIBIEMED 3. 81 x2= o | 7.62
(4. 61+11.65+11. 65+11. 65+11. 26 2
B B 1110.87+10.48+10.00+9. 95) x0. 203 !8-44 |E>E (0. 2m
& &t 255. 74
EED
£ L7 =1 =X ==X v] =
X m B K
K OE @ A= m2 119.7
& m A= m2 110.0
A 7K MARULFAL -
A= m2 255.7




3. EEMILIHKEHESEZ




= B B b T 8 = & & =%
BT No.
1 Al -1 E 2 B % =
fAKHEHLY T T
R B A - RE1EL
V= Gk, RKEHY A THEFHEE LY m3 1.3
biic R AL @&EBL) -W<1.0m
V= Gk, RAKtHY bA THEFEE LY m3 1.7
7% I L
V= Gk, RKEHY A THEFHEE LY m3 0.0
¢ MEAY R AME  50kg/m3
W= Gl#. RAKEHY bA THEFEE LY kg 85.0
H B OE AN
A= R, RAKEHy b A THEFHEE LY m2 0.7
3251 — k 18N-8-40
V= Gk, RKEHY A THEFHEE LY m3 0.726
i ¥ EEGHEEY
A= R, RAKEHY b A THEFEE LY m2 3.74




EEMBLINE G EE
BT RAKEDY FFT No. 3
KK Hy bATHET
$=1/50
1IE m B m X
7 T 50%'_ E—
,/ BE@MEL) P
3,300 :
IEGIED)
R " = B &

R B B RE1E T

V= 0.4m3/mx330= m3 1.3
i RAALEHRL) -W<1.0m

V= 0.5m3/mx3.30= m3 1.7
% +

V= 13—1.7/09= m3 - 06
G R M AR HMME 50ke/m3

V= 1.7x50/1000= t 0.1
2 @ E

A= 0.2x330= m2 0.7
v ) k 18N-8-40

V= (0.30%0.20+0.20 x 0.80) x 3.30= m3 0.726
i e

A= 3.30% 1.00+(0.30 x 0.20+0.20 X 0.80) X 2= m2 3.74




4.8 H I #

=

i




E B I % =B & =
BT No. 1
i Al -1 E = B % =2
E K& T
173 i B - AEEL
V=R, kETTIHEFEEZLY m3 198. 1
it R AL - W=0.5m
V= RBl#k. EELTIHEHFEELY m3 19.8
AL - W1 0mATF
V=R, FELTIHEHEELY m3 12.1
FRAL - 1.0m=W<2.5m
= G, FELTIHEFHEELY m3 6.6
AL - W<4. 0mlE
V= RBl#f. rELTIHEHFEELY m3 147.8
7% T et
V=198.1—(19.8412.14+6.6+4+147.8) /0. 9= m3 A8.9
= B ¥
A= RBl#E. EELIIHEFEELY m2 15.0
iK1 - b 2IN-12-20
V= G, ERREREFEE LY m3 7.057
Bk B B EBHEED
A= R, EREREHFEELY m2 20. 58
% 7 SD295A—D13
W= ZI#. EEEBEFES LY ke = 421.37
E#E2> o 1)- +18N-8-40
V= R, EREREFEELY m3 1.502
£ B B gHLER
A= G, ERREREFESELY m2 2.73
E a2 — L E#HHaVIU-FE 1584 300x2,000
L= ZAlf. ERENEHAEELY m 13.8
N= 13.8/2.0= N 7.0
## E 1 K #kCF-200
= Jl#. EREEHEFEE LY m 4.22
4 v T )L /N —D16x1,000
N= R, EEEHEHEELY VN 16.0
W= 1.56kg/mx1.00x 164 ke 25.0
= ih MISRFzYVI745—C5&
A= m2 1.2




E B T &% 2 &t & &
M No. 1
B ¥ £ T

- B W H GRAL) 2 & W=0.5) 1B ORMW<1. 0LTF)
(m) HEH® F ¥ u B OBEE T X Y W OWEE F B @ MW

(B)+9. 55 0.00 1.6 - - 0.0 — - 0.9 - -
(B)+8.90 0.65 1.6 1.60 1.0 0.0 0.00 0.0 0.9 0.90 0.6
(B) +8. 45 (E}) 0.45 3.5 2.55 1.1 0.0 0.00 0.0 2.2 1.55 0.7
N e 2.2 0.0 1.3

(B)+8.45(Z.) 0.00 2.4 - - 0.7 - — 0.6 - -
(B)+2.50 5.95 23.2  12.80 76.2 2.1 1.40 8.3 1.0 0.80 4.8
(B)+N0. 0 2.50 22.8 | 23.00 57.5 2.1 2.10 5.3 1.0 1.00 2.5
(B)-5. 20 () 5.20 0.7 11.75 61.1 0.3 1.20 6.2 0.1 0.55 2.9
INE 194.8 19.8 10. 1

(B)-5.20(2) 0.00 0.7 - - 0.0 - — 0.4 - -
(B)-5.90 0.70 0.7 0.70 0.5 0.0 0.00 0.0 0.4 0.40 0.3
(B)-6. 40 0.50 0.7 0.70 0.4 0.0 0.00 0.0 0.4 0.40 0.2
(B)-7.40 1.00 0.0 0.35 0.4 0.0 0.00 0.0 0.0 0.20 0.2
(B)-7. 60 0.20 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
N E 1.2 0.0 0.7
& § 17.15 198. 1 19.8 12.1

MOARERITICEEOL, IHHT, HOMIOEXREIIZET,




E #& ¥ E M E E
M No. 2
B %2 L+ T
o o B Bt R (1.0SW<2.5) 1 RW>40LLLE) HEms
(m) WEHE F of ¥ B OKEE F 9 x B OB F B %ﬁ

(B)+9. 55 0.00 0.4 — 0.0 - -
(B)+8.90 0.65 0.0 0.20 0.1 0.0 0.00 0.0
(B)+8. 45 (E#) 0.45 0.0 0.00 0.0 0.0 0.00 0.0

N 0.1 0.0
(B)+8.45(Z) 0.00 0.0 - 0.0 - - 1. - -
(B)+2.50 5.95 0.8 0.40 2.4 18.5 9.25 55.0 1. 1.10 6.5
(B)+N0. 0 2.50 0.8 0.80 2.0 18.1 18. 30 45.8 1. 1.10 2.8
(B)-5. 20 (E?) 5.20 0.0 0.40 2.1 0.0 9.05 47.1 1. 1.10 5.1

INE 6.5 147.8 15.0
(B)-5.20(2) 0.00 0.0 - 0.0 - - - -
(B)-5.90 0.70 0.0 0.00 0.0 0.0 0.00 0.0
(B)-6. 40 0.50 0.0 0.00 0.0 0.0 0.00 0.0
(B)-7.40 1.00 0.0 0.00 0.0 0.0 0.00 0.0
(B)-7. 60 0.20 0.0 0.00 0.0 0.0 0.00 0.0

INE 0.0 0.0

& i 17.15 6.6 147.8 15.0




E 8 I % 2 5t & &
BT E # B No. 3
750
375 375
EREE R BBV Y-FE1—LE
L=13.65m (¢ 300-L=2, 000)
2 .O\ j
(18-8-25) 10 900 10 (21-8-25)
15y
% W =1 X =-Fivi HE

Ak D) —F 2IN-12-20

Vi= 1/2x(0.90+0.75) x0.75 X 13.65= m3 8.446

B — (/4% ¢0.36%0.36) X 13.65= m3 (—) 1.389

TV= m3 7.057
Eid] ¥ BREBED

A= (0.754+0.75) x 1.005 x 13.65= m2 20.58
E £ SD295A-D13mm

W= EREEHRHIY ke 421.37
E#a20) —k 18N-8-40

V= 1.10%0.10x 13.65= m2 1.502
= B & 2 HlLER

A= 0.10X2X1365= m2 2.73
E a2 — 4L & #HHaIrIJ-+E 150300

L= 13.65+0.15= m 138
8 E 1 K #k CF-200

L= {(0.51540.490) x 2+0.10} X 24 Ff = m 4.22
A ™ T )L /N — D16x%1,000

N= 8A/#ATX245FT= YN 16.0
B ih M ISRFrYUI45—CiE

A= 0.62m2/#7ff x 25 Fi = m2 1.2




0.

T HARYISIRI #$E

HEE




TEHHAKRY VP RIHME EE R
BTt No. 1
1 bill " E =X B % 2
*r ® o #
®E a2 U - F2IN-12-20
V= m3 0.808
il B $EEIEY
A= m2 3. 31
= 2 # PL-800 % 900 x 7
A= m2 0.72
W= kg 37.04
£ g7 SD295A—D13
W= kg 99. 05
HEB a2 2 1) - F18N-8-40
V= m3 0.169
X OH il Bt LB
A= m2 0.39
1- ) piu] ¥ $200
N= = 1
E [T 3 IEANA-#EL
A= = 1.7




TR ARARYIRIMEAFESE

BT + ® o T No. 1
£ @ T EHE
B A
-230 I‘.";::O 200“ ! 'S'i T
il L =) ‘-_!‘-::‘H;: 12-200 .U E
. g o % ‘ Lol
f . CEIE e e & oMY= 51
2§ 8 R - — i 2}
uI ] ﬂ|:' | —i
w =} w (& = 1
gl — — gl
myR _l‘l.stl-:lxm_lllaux_ ) S !w:j]/nyulw = (IEN-B-40 — Lod
. B A -
B & =
HET
i
B (PLEOD = 000 % T) ::;ﬂﬂ:lu:,[/
4k
o g 1N 2 i
w E:“ w
gl sl
I_B A i3
15Ar&Y
£ L7 g = =Xivd =
K> o1) -k 21N-12-20
Vi= (1.20%1.10%0.80) — (0.80 X 0.70 X 0.40) = m3 0.832
% R — (/4% ¢0.30%0.30) Xx0.20= m3 (=) 0.014
2 B — (/4% $0.20%x0.20) Xx0.20= m3 (=) 0.006
%2 Br —(7w/4%x ¢0.15%0.15) X 0.20= m3 (=) 0.004
TV= m3 0.808
i B SmHEEYD
A= (1.20+1.10)x0.80 X 2+(0.80+0.70) X 040 X 2= m2 3.31
= i) ¥ PL-800 X 900 X 7
A= 080x0.90= m2 0.720
W= 0.720 X 0.007 X 7,350kg/m3= kg 37.04
% f5 SD295A—D13
W= ITHMHTITEHRELY kg 99.05




T RHHETIHESNEE

BT T & m I No. 2
I 5 = g ME

E®a2 Y1) -k 18N-8-40

V= 1.30x1.30x0.10= m3 0.169
2 B OB B BHLER

A= 130x0.10x3= m2 0.39
= & it & ¢200

N= LTHHIEEREKY -8 1
E B E I AAO-#hitx

A= 130x1.30 m2 1.7




6. MM IM=EHEE




& M I ¥ B &£ =
BTt No. 1
i Al " E = By #® B
# ] T
K 3> Y- F2IN-12-20
Jv= m3 2.998
i B $aniEiEy
A= m2 11.31
E7S f7 SD295A—D13
AES kg 250. 78
E# a2 ) - k18N-8-40
Jv= m3 0. 562
£ i it By LR
A= m2 1.34
b2l ] & SGP(H) 200A
L= m 4.9
= = fL & SGPE 50A
L= m 2.6
1= ) it 2 ¢80
N= H 8.0
i E 1k K #xCF-200
L= m 2.4
f= & ith & H ff & SGPH 80A
L= m 2.00
BRIV Y- bk 18N-8-40
V= m3 0.544




MM I =EiEE
BT No. 1
1= &=Y
700
EEARESEEE 100150 200 IISOIGG
QIZMKJ:EEE SGP(£) 200A ; _
L=7.155m _ e
BATELER |8 S 2 g
L=5.780m o n\% ' = B 2 500
= o = 150 350
BRIREHIER | < =
L=6.468m [ P m, | 8 —ﬁ ITT:?'
EfEa o9 1)-+ ,/} . BBEaLOY — h_'”‘-._l |‘
(18N-8-40) (21N-12-20)
AR EER s J |
L=5.780m = o
AEETHER |
L=5.557m g] J g|
L=5.669m [ i
300 |
% L7 g = Bi{1 H=E
REaH1) —F 21N-12-20
= 10X 0.00 X06. = m .
5 A Vi= 0.70%0.55 X 6.468 3 2 490
W YU B V2= 050%x0615x0.70= m3 0.215
& B V3= (1/2x0.30x0.15) X 21 = m3 0.473
% B2 — (/4% $0.216%0.216) X 4.90= m3 (=) 0.179
V= 2.998
i B SmEEY
= D9 X2X0. = m -
g K Al 0.55 X 2 X 6.468 2 7.12
BYBEIE A2= 050x0.615%x2= m2 0.62
BYIBIE®T A3= 070x0.615x1= m2 0.43
ME E% Bl @ A4= (1/2x0.30%X0.15) x21X2= m2 0.95
Bs BY IF @ A5= 0.15X0.70x21E%¥= m2 2.21
A= m2 11.31
&% f5 SD295-D13
W= #EIEMRLY kg 250.78




# B I8 =5
BT No. 2
sz W " =X BAfT HE
EH®a291) — b+ 18N-8-40
5% K Vi= 0.90x5669%0.10= m3 0.510
W Y B Vi= 0576x090x0.10= m3 0.052
AVES m3 0.562
2 OB OB B HLER
5% A Al= 5669x0.10Xx2= m2 1.13
W Y 1§ A2= (0576x2+0.90) x0.10= m2 0.21
TA= m2 1.34
el ] & SGP(H)200A
L= #fBEIFERKY m 4.90
T K fL & SGP(H)50A
L= MEIEERELY m 2.55
= & it i P75
N= == 8
8 E 1 K #k CF-200
L= (0.69+0.46) x2+0.10= m 2.4




MM I =EiEE
BT o3
1= &=Y
f= it ie R E 5 X
£ S$S=1/10
300
1
1.
& L=250
S| SGP(B)80A
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